(9] - )

A S == A5 AU S 20184 (A) | 2017 (B) ZH(A-B)
3HA 37,211,367 26,963,537 10,247,830
37,211,367 26,963,537 10,247,830
Z2F51S 28,556,955 24,945,872 3,611,083
1,257,315 1,169,951 87,364
AR 13,966 9,182 4,784
FHdFAd 13,966 9,182 4,784
1. A Fd3ns$Ed 13,966 9,182 4,784
7h A A A A 10,506
1) 298= 210-01 62,6009 x10%= 626
2) Z3AE (4R 210-06 |160,000¢ x 43]= 640
3) AFEgAd =8 210-07 900,000 X5 x 23] = 9,000
4) 393 230—02 15,0009 x 8% x 23] = 240
v A A nSE 3,460
1) 2574 210-01 |346,0009 X109 = 3,460
3,107 3,007 100
277 640 640 0
1. ZZ-FEA| 640 640 0
7F 2 EA 640
1) 98 210-01 |20,0009 X 6%= 120
2) I+ 210-06 |80,0009 x 3= 240
3) EA5Y 210-06 50,0009 x 29 = 100
4) A= 210-06 |30,0009 x 24 = 60
5) 393 230-02 15,0009 x 8% = 120
AT AQAALH 2,467 2,367 100
1. JIAMRE) A4 3+9 530 530 0
7, AL 3] 530
1) ZAeg 210—06 80,0009 x 27 x 23] = 320
2) 393 230-02 |15,0009 X7 x 23] = 210
2. 15N ERst 737 737 0
7. w5 A ) 737
1) Sa98= 210-01 23,4009 x5%= 117
2) 4o 210-06 |80,000¢ x 27 x 23] = 320
AE - FollETENE — & - WAJALAE — LA 1/43




(gl - A9

[e} =]
?};3 ﬂg ApeI e == Atz o 2018 (A) | 20179(®B) | E7(A-B)
3) Y23 230-02 15,0009 x 10 x 23] = 300
3. LAJAFFFR 1,200 1,100 100
7F AJAARGFF 1,200
1) $99F 210-01 20,0009 X 20%= 400
2) AH] 210-04 |8,0009 %107 x103]= 800
AT QALR 510 510 0
A FFAAArEE 510 510 0
L A3 a2 d 510 510 0
7} QIARS €1 3] 510
1) $99F 210-01 30,0009 X 5%= 150
2) 993 230-02 15,0009 X 6% x 43| = 360
v A T2 Q1AL -2 1,670 1,670 0
04 74 Q1 A} 1,670 1,670 0
L 25 FH LA ET 740 740 0
7h A AQARe 4 3 740
1) $99% 210-01 10,0009 X 7§= 70
2) ZA g 210-06 80,0009 x 43| = 320
3) WA 210-06 |40,000¢ % 23] = 80
4) o3 230-02 15,0009 X 97 x 23] = 270
2. IS FFHLHFAT 930 930 0
7h A A FARA A 930
X E 210-01 |33,0009 x6%= 198
2) 1% 210-01 |14,0009 x 30l X 4A] 7= 168
3) AlH] 210-04 |8,0009¢ x 437 = 344
4) A () 220
b 75 210-06 |70,0009 x 2= 140
W) 22 210-06 |40,000€ x 29 X 12| 3}= 80
TA QB X 9}A}7) A= 1,238,062 1,155,582 82,480
TALEAR] Y 1,238,062 1,155,582 82,480
1. ZEAFARIAN X ¢ 1,238,062 1,155,582 82,480
7h aAAFARI AR A 1,238,062
D 7125 110-04 |1,620,65091x35% x 129= 680,673
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4% )
)=
ﬂg A Az o 20189 (A) | 20179 (B) ZHA-B)

2) A7 LRI A 358,950 x 359 x 129 = 150,760

3) 7= 84,4709 x 229 x 129 = 22,300

4) A sHa| B xS 247,750 x 29 X 4%-7] = 1,982

5) WE K ZH| 60,0009 x 359 x 129 = 25,200

6) FAIH] 130,000 x 35 x 129 = 54,600

7) Axed 1,312,200¢9 X359 = 45,927

8) WA F 7 500,0009 X 359 x 28] = 35,000

9) A7 o]+ 500,000-9 X 357 = 17,500

10) 933 2 x)n) 400,000 X 35 = 14,000

11) B8+ 2,616,880 x 35 = 91,591

12) =W+ 1,259,1709 x 357 = 44,071

13) A% x3 856,2209 X 357 = 29,968

14) w91#7) QoFR & 56,1109 X35 = 1,964

15) 7813 419,7409 X 35" = 14,691

16) AHA 3 223,8509 X 35T = 7,835
1,259,757 1,073,426 186,331
2SN LS 34,763 29,190 5,573
AR Sk 17,522 14,479 3,043
1. 25 25HELY 4,422 4,479 AB7

7F w5 g A 3,350

1) £98= 20,0009 X 10%= 200

2) EATY 15,0009 x50 x 33] = 2,250

3) 214H] 8,0009 x 507 = 400

4) Z3Atd (AR 500

7hH 71& 160,0009 x 27 = 320

) x3 90,0009 X 27 X 1 A] 7= 180

|5 A R R 1,072

1) 298= 20,0009 X 8% = 160

2) 41w 14,0009 X 3wl X 34| 7= 126

3) ZHArE (AR 450

7hH 7]& 100,000 x 37 = 300

) z3 50,0009 X 37 X 14| 7b= 150

SEAY - g7

o,

Mg - 35




44 (2] - ")
)=]

s Ayl %A% A 20189(A) | 20179(B) | SF(A-B)

4) WEH) 210-06 |12,0009 x 3= 36

5) 82o]3 230—-02 |15,000€ x 207 = 300
2. ISR A3 AL 13,100 10,000 3,100

7h A zRek e e 7,220

1) $99= 210-01 |25,5009 X 40% x 23] = 2,040

2) 211] 210—04 |8,0009 X407 x 23]= 640

3) 7FAH] 210—04 3,0009 x40 x 23] = 240

4) 7 (4R 4,000

7h 71 210-06 |160,0009 x 87 x 23] = 2,560

W) z3 210—-06 |90,000¢ x 8% x 24| 7} = 1,440

5) d93] 230—-02 |15,000€ X 107 x 23] = 300

U AAEHEY 2,780

1) S99% 210—-01 |50,000€ X 115 % 23] = 1,100

2) 2] 210-04 |8,00041 x40 x 23] = 640

3) 7+ 210—-04 |3,00091 x40 x 23]= 240

4) A (4R 500

7h 718 210—-06 |160,000¢) % 27 = 320

W) %3 210-06 |90,0004 x 27 X 12| 7} = 180

5) g2o]3 230—-02 |15,000€ X107 x 23] = 300

o wapE A A L 3,100

1) S99= 210-01 |50,0009 X 20%&= 1,000

2) AH] 210-04 |8,0009 X 257 x 43]= 800

3) 7+ 210—04 |3,0009 X 25 x 43]= 300

4) AR (4R 1,000

7hH & 210-06 [160,000¢ X2 x 23] = 640

W) x3 210—-06 |90,000€ x 21 X 24| 7= 360
IFAENLRF 16,241 13,711 2,530
1. AHE A A m o d R F 16,241 18,711 2,530

7h ALS| B A o S AR 15,174

1) S99% 210-01 10,0009 x10%E= 100

2) A7 A2 210—-01 |8,0009 X 5004 x 23] = 8,000

3) 9= 210—01 |14,000€ X 3v] X 74| 7= 294

- BF-SHREAY - LA E Y - B EANEEF
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4% )
ﬂ;r Aol el B AbE) 20184 (A) | 20179 (B) ZHA-B)
4) AEFG 1,080
7h 71 210-06 |40,0009 X9 x 23] = 720
W} 23 210-06 |20,0008 X 97 x 24| 7= 360
5) AsINET 5,400
7h 7] 210-06 |40,0009 %9 x103]= 3,600
W) 23} 210-06 |20,0009 X 9% x 104 3F= 1,800
6) 323 230-02 15,0009 X107 x 23] = 300
v AFS] A o st A g 1,067
1) 2] 210—04 |8,0009 x43 x23]= 688
2) 7F21n 210-04 |3,0009 x 43 = 129
3) ZAAtrE (LR 250
7} 7= 210-06 160,000 x 18 = 160
W} 23 210-06 90,0008 x 17 x 14| 7k= 90
EAg SRR LY 1,000 1,000 0
1. g wLd= ¢ 1,000 1,000 0
7t Al g u st A Y E £ 1,000
1) $oax 210-01 |56,0009 x5%= 280
2) 28] 310-01 [8,0009 X 9% x103]= 720
31,383 33,183 A1,800
FASFANAR L 16,160 17,960 A1,800
1. ZAZFAALNA QL 16,160 17,960 A1,800
7h AN A AT 5,680
1) $98% 210-01 40,0009 X26% x23]= 2,080
2) Z3AHrd (4R 3,600
7hH 7]& 210-06 [100,0009 x12% x 23] = 2,400
W) x3t 210-06 |50,0008 x 127 X 2A] k= 1,200
v g gashd o4 2,430
1) $938= 210-01 |23,0009 x10%= 230
2) 2] 210-04 |8,0009 X 1007 x 23] = 1,600
3) 7FAIn] 210-04 |3,0009 X100 x 23] = 600
o TR YA FT AT 5,690
1) W=7 210-01 47,0009 x55% = 2,585

SedeAd - SHAAE - wAFAAAAY
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7187 AR E 1S4 9% (cFe] : 19
o )=
Bopnm ;‘3}2; ?};3 ﬂg NERE = = 20184 (A) | 20174 (®B) | Z7(A-B)
2) AlH) 210-04 (18,0009 X559 = 440
3) 74 210-04 |3,000€l X557 = 165
4) <xdhp) 210-04 [40,0009 x40 = 1,600
5) &<]3] 230-02 |15,0009 X 307 x 23] = 900
g TP YA 2,360
1) =A% H] 210-01 |15,0009 x127 x 28] = 360
2) A3 210-12 |500,0009 x 43]= 2,000
sty A e 15,223 15,223 0
1. ggA%A 15,223 15,223 0
A EN1a= A S B 13,500
1) 3R 27A} 210-06 |10,0009 X 31 X 450A] 7k= 13,500
. s Al A 1723
1) +98+% 210-01 (82,3001 X 10%= 323
2) ZdAr () 900
7h 7]E 210-06 |100,000¢ x 27 x 38| = 600
) =3} 210-06 50,0009 X2 x 34| 2t= 300
FARNEFsEF 2,000 2,000 0
AR FHZTLTA A 2,000 2,000 0
1. LA ER Az 2,000 2,000 0
7F AT A Az 2,000
1) &98% 210-01 |35,0009 X20%F % 23] = 1,400
2) ¥9ol3] 230-02 [15,0009 x 209 x 23] = 600
frolz 3% 9,339 9,339 0
frolm&A ¢ 9,339 9,339 0
1 A2 ARH L GA AABNEEFLA S 4,239 4,239 0
7t AR EAST 2,564
1) &98% 210-01 |55,0009 x10%= 550
2) d1s 210-01 [14,000€ X 31 x 12| 7k= 504
3) A=AZ) 210-01 |7,0009 x50%-= 350
4) A (AR 1,000
7p 7B 210-06 160,000 x 4= 640
W %3 210-06 90,0009 X 478 x 1A 7k= 360
WE - FOFREFERS - nE-FFHEAL - RORKFAT — FolwEA 9 6/43




At < s AbE] 2018 (A) | 20174 (B)

5) WEH] 210—06 40,0009 x 49 = 160
U A e el A 9 1675
1) *98= 210-01 20,0009 X 10F= 200
2) 2}l ata 210—07 800,000€ x 1¢]= 800
3) 893 230—02 15,0009 x 454 = 675

2. FX4EAA 4 5,100 5,100
7h w715 o A A} 5,100
1) 998= 210-01 50,0009 X 20%= 1,000
2) Foule-akA %] 210-01 3,950,0009 % 13]= 3,950
3) &9 3 230—02 15,0009 X109 = 150

142,709 122,130

28424 122,884 104,310

L EFTSAYGAE Y 122,884 104,310
7. A A5 w4 X DA E 8- 122,884
1) ZdAF1 AN 40,808
7 7185 110-04 12,449,5009 x 129 = 29,394
) F20] 110-04 [80,0009 x12¢= 960
o} HAEF 7] 110-04 500,000 x 19 x 23] = 1,000
2 Az 110-04 [102,1409x15%= 1,532
) AFIEFE 110-04 13,1409 X 924 7t= 1,210
H}) 9hE3]E 2 n) 240—-02 400,0009 x 1% = 400
AP BHRZ 320—12 2,892,0009 %1% = 2,892
op) FWAFE 320—12 133,135,7709 X 4.5%= 1,491
2 7A73R 3 320—12 |33,135,7709 X3.12%= 1,033
2 =147 ok 320—12 [1,034,000€ X6.55%= 68
IhH 1L 13 320—12 133,135,7709 % 1.5%= 497
Ep) AkA| R.& 320-12 |33,135,77094 X 1%= 331
2) A2 1,960
7 HAARA] 4] 210—01 100,000 X 10%= 1,000
h 2 210—06 80,000€ x 27 X 63] = 960
3) SEFuFdsAd 26,025
7hH 8= 210—01 28,0009 X 30% x 53] = 4,200
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AFA U < A5 =Y 2018 (A) | 20179 (B) | F
) zpFelxtg 210-07 [1,100,000€ x 2t)= 2,200
th A& 210—-12 (25,0009 X509 X 103] = 12,500
2h) 21n] 310—01 8,0008 X639 x63]= 3,024
u}) 7RI 310—-01 |3,0009l X639 x 93] = 1,701
v k) 310—01 24,0009 x50% x 23] = 2,400
4) FAAA B2 8,801
7hH e98= 210-01 75,9509 X 10% x 23] = 1,519
W) zekelxta 210-07 800,000¢ x 2= 1,600
th A& 210—12 30,0009 x 42 x 23] = 2,490
2}) <1 310—-01 |38,000¢ x 429 x 23] = 3,192
5) oH] 10,920
7 &3] 220-01 |20,0009 X394 x160d= 9,600
h 220-01 20,0009 x 39 x53] = 300
h T 220-01 |40,0009) x 3% x 58] = 600
ZH E9 220-01 70,0009 x 3 x 23] = 420
6) 93 230—02 15,0009 x 10 x 23] = 300
7) EREE 210-01 5,000 x20071= 1,000
8) At d (LR 21,750
7hH 71& 310—-01 |100,0009 x59 x203]= 10,000
) =3 310—01 50,0009 X5 x 47| 7k= 11,750
9) SFuFAF 1,120
7b) A1) 210—-04 |8,00091 x 20 x 43]= 640
) 7Ha0] 210—-04 |3,00049 x 20 x 83| = 480
10) AE-< 8,700
7H 8% 210-01 [100,0009] X 2% x 53] = 1,000
W A7e &+ 210-02 1300,0008x129= 3,600
o TR 210-02 100,000 x12¢¥= 1,200
Zh) A3lo = 210-02 100,0008x12¥= 1,200
ul) 7 210-02 |100,0009 x 28] = 200
v A AR T 210—02 [25,0009 x129= 300
AD A71BA A TR 210-01 |25,0009 x129= 300
o) AWAE A ATTR 210-01 [25,0009x12¢¥= 300
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7187 AR E 1S4 9% (cFe] : 19
=N o H
Bopnm ;‘3}2 ?};3 ﬂg NERE 2 A AE 2018d(A) | 20179®B) | Z7HA-B)
2 A7l 8 210-07 |50,0009x12¢9= 600
11) HlE74] 1,500
7H 3713474 7] 430-01 |750,000¢ x 2t]j= 1,500
E2g8EAA Y 19,825 17,820 2,005
1. A8AM-9 19,825 17,820 2,005
7} B A AAE | BAR- 19,825
1) ¢4 110-03 |25,0009 X 59417 x 108= 14,750
2) FA1H] 110-03 |48,000¢ x10€¥= 480
3) WAF7H) 110-03 |500,000¢ x 17 x 28] = 1,000
4) £=3]oqn) 220-01 (20,0009 %1409 = 2,800
5) b3 B 2 n) 240-02 400,0009 %19 = 400
6) AbA B3 320-05 |15,750,000¢1 X 1%= 158
7) 14R3 320-05 |15,750,0009 % 1.5%= 237
SA S35 12,610 12,330 280
SA=ens84Y5 12,610 12,330 280
1. EE2¥Y3dLgr 4y 12,610 12,330 280
7t EAEELSA Y 3,960
1) $98= 210-01 |40,0009 X 20% x 23] = 1,600
2) Au] 210-04 |8,0009 X 407 x 28] = 640
3) 7+21H) 210-04 13,0009 x40% = 120
4) 7t (A 1,000
7p 7%= 210-06 |160,000¢ x 27 x 23] = 640
W) =3 210-06 90,0009 x 27 x 24| 3= 360
5) 2=l E 210-07 |600,0009 x 1t)= 600
U, =78 8,650
1) $98= 210-01 |50,0009 x17%= 850
2) ©ATY 210-01 |16,00091 X 307 x 23] = 960
3) A=A = 210-01 |15,0009 x 250% = 3,750
4) A1) 310-01 |8,00041 %307 x 43| = 960
5) 7FAH] 310-01 |3,000¢ x 30 x 23] = 180
6) <uhn] 310-01 |15,0009 x 308 = 450
7) 7 (AR 1,000
6 - fOIRRTERS - BF-FEREAY - SARGRYS - SAEERsBYS 9/43




718 AR R wSA 9 (9] - )
Z =0 [e) =]
Bopnm f}; ?};3 ﬂg NERE = = 20184 (A) | 20174 (®B) | Z7(A-B)
7p 7] 210-06 160,000 x 4= 640
W) x3 210—06 90,0009 X 47 X 1A] 7}= 360
8) F=el a7 210-07 |500,0009 x 1= 500
PESEE 426,471 530,858 A104,387
PERS IR R3] 426,471 530,858 A104,387
1. 25901752954 200,000 200,000 0
7F 2o Fgoigs 200,000
D 258d5gofusy 200,000
7hH ez 2 984 210-13 |18,944,0009 X 109 = 189,440
) AR 480
1) 7] 210-06 |40,0009) x 87 = 320
(2) 23 210-06 |20,0009 x 8% = 160
th &<l 3] 230-02 |15,0009) x 167 x 23] = 480
2p) A 620-03 30,0009 x 107 x 325= 9,600
2. JoAR=ZR LY 80,000 80,000 0
7h G n G A 80,000
1) AFAat= 210-07 4,533,2009 x 1t} x 109 = 45,332
2) Hgodn 210-13 |800,0009 x 129 = 9,600
3) zg el 620—10 2,089,00091 X1 x 129 = 25,068
3. ol AT HAEHLY 146,471 250,858 A104,387
7h GoAdAN L2 146,471
1) 171 87,256
7 ol Bz wA 87,256
1) A% 110-03 |28,200,0009) x 27 = 56,400
(2) A AR 110-03 |1,200,0009 x 27 = 2,400
(3) A2 FY 110-03 |20,000€ X 27 X 25A] 7= 1,000
(4) =37 210-01 |1,650,000¢ x 2= 3,300
(5) AFFAEA AL A A FR A3 | 310-01 |2,000,0009 x 27 = 4,000
(6) FHAXE 310—-01 |4,800,0009 x 2% = 9,600
(7) A== 310-01 |300,000¢ 2% = 600
(8) BAZ 320-05 |2,500,0009 X 2% = 5,000
(9) FHlAE 320—05 |28,800,0009 X 27 X 4.5%= 2,592
A = FoPlRTE UG - AF-SFdTAY - dFolug - o] ufg LA 10/43




CA)

AFA U < A5 ArEU S 20184 (A) | 2017 (B) Z(A-B)

(10) A% 13 320—05 28,800,0009 x 2% X 3.12%= 1,798
(11) =171 Q kRl 320-05 880,000 X 2% X6.55%= 116
(12) 2R 5.3 320—05 128,800,0009 % 2% X 0.78%= 450
2) T2 WG] 87715
7hH 98 210—01 79,0009 X 10% x103] = 7,900
) ARt 10,840
(1) A=A 2 210—01 20,0009 X 100% x 53] = 10,000
(2) 211 210—-04 |8,0004¢l X 67 x 53] = 240
(3) AArEE 210-06 (60,0009l x5 x 23] = 600
th A esAEgE 210-11 |40,0009 x 15% x 303] = 18,000
2 393 230—02 15,0009 X594 x133]= 975
3) 7191 2,640
7hH ARG F-F211] 250—02 [100,0009 x12¥= 1,200
) 7)E e HEF%14) 230-01 |80,0009 x 129 = 960
th Etu)aln) 210-05 |8,00091 X 57 x 123]= 480
4) 3w 6,600
7hH A7+ 210—02 [400,0009 x12¥= 4,800
) Aste 210-02 150,000 x129= 1,800
5) BAlz|d == 210-07 187,0009x12¢= 2,244
6) AF718-A 2 210-07 43,0009 x129= 516
7) A AN 5+ e 210-09 150,000 X108 = 1,500
8) Al A n] A e 210-09 600,000 x 103]= 6,000
9) on] 2,000
7hH ZH) 220—01 20,0009 X594 x103] = 1,000
) Ty 220—01 40,0009 x5 x 53] = 1,000

43,038 38,907 4,131

S 74 LA 5t 40,818 36,687 4,131

1. A FAR-A 40,818 36,687 4,131
7}, @171 40,038
D 718+ 110-04 |1,602,0009 x 129 = 19,224
2) A7 LRI A 110-04 |525,0009 x 129 = 6,300
3) 7= 110-04 40,0009 x12€9= 480
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7187 AR R RS54 93 (9] - A )
2N © =
wopvy S0 | 2R | AT NERE 2 4% Ao} 20189(A) | 2017d(B) | 2%(A-B)
4) =R ZH| 110-04 60,0009 x 129 = 720
5) F21H] 110-04 |130,0009 x12¢ = 1,560
6) A}k 110-04 72,5009 %21 = 1,523
7) AFEETG 110-04 97,900¢1 x 203] = 1,958
8) A F 7] 110-04 |500,000¢ x 23] = 1,000
9) A7l 110-04 |250,0009 x 23] = 500
10) w3 2 2] n) 240-02 400,0009 % 13]= 400
11) §Aa=+ 320-12 12,980,690 x 18]= 2,981
12) =ulol 320-12 |33,488,8809 X 4.5%= 1,507
13) AR 3 320-12 (33,493,580 x3.12%= 1,045
14) =Q1#7]Qokw 3 320-12 |1,045,000€ X 6.55%= 69
15) 18413 320—12 133,533,330 x1.5%= 503
16) AHA K8 320-12 |33,500,0009 X 0.8%= 268
1}, o3n) 220-01 |20,0004 x393]= 780
A B Z=A 3837 75% 2,220 2,220 0
1. FetegTEF o 3] 2,220 2,220 0
7h. et 3 2,220
1) $99% 210-01 20,0009 x20%= 400
2) AHE ] 210-01 20,0009 X 30% = 600
3) AR (AR 440
7h 75 210-06 |70,0009) x 47 = 280
W) =3} 210-06 |40,0009 X 47 x 14| 7= 160
4) A 210-06 |40,00091 % 12 = 480
5) 9|3 230-02 15,0009 x 20 = 300
A& &t 327,610 106,000 221,610
ARG T IR L 41,610 20,000 21,610
1. A5 TSI LS 41,610 20,000 21,610
A St R | 41,610
1) $9¢8= 210-01 |37,9009 X 25% x1238]= 11,370
2) A 210-06 30,0009 x 27 x 384 4| 7k= 23,040
3) AA= 210-15 (5009 x 1209 x 325= 1,920
4) A8 310-01 |8,0009 x 120 x 48] = 3,840
W% - folREFENS - WE-SEHEAY — AKLEUAS — A8 84 9 12/43




GO )

)=]
A}QE PARSRS I A5 ArEue 20189 (A) | 2017d(®B) | SH(A-B)

5) 7+An) 310-01 |3,0009x120% x43]= 1,440
ASSAHEZERY 86,000 86,000 0
1. SAFTELY 86,000 86,000 0

7h SATHED 66,000

1) 258w 620-03 400,000 X 77 = 30,800

2) Z38kw 35,200

7hH 2 620—03 |400,00091 X 187 = 7,200

) A 620—10 |400,0009 X 70 = 28,000

U AlSF AL 20,000

1) FH%9n 210-12 |200,0009 X 10%= 2,000

2) 2] 310-01 [8,000€1x10% x 1173]= 9,360

3) 7HAn 310-01 |3,000€ x10% x 1363]= 4,080

4) WER 310-01 |15,60091 107 x103]= 1,560

5) Z-uhy) 310-01 |20,0009 107 x153]= 3,000
A AR AAANA 200,000 0 200,000
1. AR SAH B 200,000 0 200,000

7h AT g2 200,000

1) 231 620-11 |200,000,0009 % 132= 200,000
15,000 15,000 0
o ST 3} 7,800 7,800 0
L. dsth3ed 7,800 7,800 0

7. olls 7 A 3] 1,000

1) $98% 210-01 |40,0009 X 16%= 640

2) A 360

71 7|5 210-06 |40,0009 x 6% = 240

W) x3t 210-06 |20,0009 X 6= 120

. SR WA LA 3,300

1) 989 110-03 66,6309 x4 = 267

2) WALLE 210-01 |65,3009 X 10%= 653

3) AU E 210-07 |1,000,000¢ x 18] = 1,000

4) o ey 210-15 |250,0004 x 28] = 500

5) 2H] 310-01 |8,000€lx85%= 680

F45AY - 5885 AY - 23elsusdd st 13/43




AR = &A= A=Y 2018 (A) | 20179 (B)

6) G=oin] 310-01 |100,0009¢ x 2= 200
ot FopteAY TAE 3,500
) ANAEAR R 210-07 |500,0009 x 13]= 500
2) YAFLE-IH) 210-13 |3,000,000¢ x 13]= 3,000

tHE sl R So|gF s A B 5A ¢ 7,200 7,200

1. HES R 27 B4 A 473 7,200 7,200
7} oz dof st v 8 700
1) S99= 210-01 |30,0009 X 10F= 300
2) AN 400
71 7= 210-06 40,0009 X108 = 400
L}, Sh o Fel o) AL 700
1) £998% 210-01 20,0009l x10%= 200
2) ZdAtr (4N 500
7h 7] 210-06 |160,0009 x 2% = 320
W) 29 210-06 90,0009 x 27 x 1A|3k= 180
o 2EMEANL T WS 3,700
1) £98% 210-01 20,0009 x10%= 200
2) At w 210-07 |600,000¢ x 2t]= 1,200
3) Tg 739 210-12 |600,000¢ x 23] = 1,200
4) An] 310-01 |8,0009 X507 x 23] = 800
5) 7FAn) 310-01 |3,0009 x50 x 23] = 300
ek TRt 371 ob A AF =1 2,100
1) $98% 210-01 |20,0009 X 10% x 28] = 400
2) Z3An] 210-06 |30,0009 X543k x 28] = 300
3) Z=ke) b a 210-07 520,000 x 1tj= 520
4) An] 310-01 |8,0009 X 407 x 23] = 640
5) 7FAn) 310-01 | 3,0009 X407 x 23] = 240

19,700 19,700

=29 19,700 19,700

EHgETZ ALY 19,700 19,700
b A 7,000
1) A (2uh) 210-06 [70,0009 X2 x153]= 2,100
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B STAS b K )
)=
?}ij} ﬂg_g A S == A5 AHEU S 2018 (A) | 20174 (B) ZH(A-B)

2) WMRGAE (AR 310-01 |70,0009 % 27 x 358 = 4,900

L el el o B 5,000

1) So98e=x 210-01 50,0009 X 15% x 43] = 3,000

2) ¥]¥En 210-03 250,000 x 4 x 23] = 2,000

o TH g S 7] 7,700

1) $99= 210-01 |20,0009 X 5% x 63]= 600

2) AT 210-12 10,0009 X109 x23]= 200

3) AAASA K 210—09 59,0009 X 10% x 103] = 5,900

4) A (EW) 310—01 200,0009 x58 = 1,000
S A ER = 10,406 6,692 3,714
R B B SR ] 5,806 0 5,806
1. G TS LA ¢ 3,630 0 3,630

7} SR E9m] 3] 3,630

1) wEddYg 2,290

7 Stw A EF 2,290

(1) =sstw(2w) 620-03 [2,290,000¢ = 2,290

2) tuEEAALY 1,340

7h A EF 1,340

() 25w (11) 620-03 |210,0009= 210

(2) Tt (1) 620—03 1,130,000 = 1,130
2. SrA oA Ta 2,176 0 2,176

7F gk d w A P S 2,176

1) S99= 210-01 3,000 x84%= 252

2) AH] 210-04 |8,0009¢ x 847 = 672

3) ek =tE 210-07 500,000 x 2t]= 1,000

4) 1A= 210—15 13,0009 x84H = 252
St Z g o1 4,600 6,692 A2,092
1. St Z YAt ¢ 3,000 3,000 0

7} B S S 3,000

1) $98% 210-01 20,0009 X 7%= 140

2) A3n 210-12 10,0009 x40 = 400

3) ST 2,460

T - AF-FdEA

— PG A T — sy Z gz
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)=
ﬂg RENE == Al 2018¥(A) | 2017 (B)

7h 2] 310-01 (8,000 x40 x 23] = 640

) 7h2ln)] 310-01 |3,0009 x40 = 120

t}) Z:uhy) 310-01 |30,0009 x40 = 1,200

2}) A (ARh) 500

(1) 71& 310-01 |160,0009 x 2= 320

(2) %3} 310-01 |90,000¢ x 2% X 14| 7}= 180
2. A=A 1,600 1,600

7h e EA = 1,600

1) $98= 210-01 10,0009 X 10% % 108 = 1,000

2) 393 230-02 15,0009 x 8% x 53| = 600
N PAR=R RS 148,898 135,637
[ AR R R ] 148,898 135,637
1. S (Wee) ZZAHEL-Y 148,898 135,637

7}, @171 89,784

1) AZ4HAE 59,339

7 7185 110-04 (1,977,910 %28 x 129 = 47,470

) 2214 110-04 130,0009 %2 x 129 = 3,120

th A7)+ 110-04 250,000 x 29 x 23] = 1,000

o)) A& 7] 110-04 |500,0009 x 27 x 23] = 2,000

o) Az}t 110-04 65,1209 x 29 x 159 = 2,019

vh) AFTZSG 110-04 12,2109 x 29 X 1204 7k= 2,930

Ap) @3 Ex)H) 240-02 |400,0009 x 2% = 800

2) AF3] E A AL 30,445

7h 7185 110-04 |1,787,6709 x 1% x129= 21,452

W) A7 257 110-04 150,000 1% x12¢9= 1,800

h &Y 110-04 40,0009 %1% x129= 480

) WER ZH] 110-04 60,0009 %1% x129= 720

o) F21H) 110-04 [130,0009 x 1 x 129 = 1,560

S PPN = 110-04 |250,00091 x 1% x 23] = 500

AP HWAEIIRAE 110-04 500,000 x 19 x 23] = 1,000

o)) Ax}E 7R A 110-04 |65,7709x 1% x 16U = 1,052

) AGTETE 110-04 12,3409 X 11 X 1204 7k= 1,481
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(9] - )

A S == A5 AU S 2018 (A) | 20179 (B) | TH(A-B)

2}) @& E A 240-02 400,0009 x 1= 400
(R AR 9,182
1) AEAAL 320—12 3,460,140 x 2% = 6,920
2) A} E XA} 320-12 2,261,930 x1%8= 2,262
o Al 9,090
1) Zulad= 320—12 189,784,0009 X 4.5%= 4,040
2) AR 320-12 [89,784,0009 X3.12%= 2,801
3) =1 AV| QR 3 320—12 [2,801,0009 X6.55%= 183
4) 1819 320-12 |89,784,0009 X1.5%= 1,348
5) AR w3 320-12 |89,784,0009¥ X 0.8%= 718
2} AEAFTol E o) 220-01 |20,00091 x 31 x 1203]= 7,200
v}, -9 n] 33,642
1) S98= 210-01 50,0009 X 4% x 103 = 2,000
2) ¢14=n] 210-01 |500,0009 x43]= 2,000
3) EAA 7 FER 1] 210-01 200,0009 x 48 = 800
4) TR EE 210-15 |500,0009 x63]= 3,000
5) 213l 9,000
7H HAeEE e 210-15 [800,0009 x103] = 8,000
W) HekZ 2 A 310-01 |100,0009 % 103]= 1,000
6) A A 210—15 340,0009 x58 = 1,700
7) g X 2 A m] 210-15 |800,000¢ x1038]= 8,000
8) 7rHH| A 210—15 250,0009 x58 = 1,250
9) Ald e 5,892
7H FE o 210-02 1291,0009 x12¥= 3,492
) Al A8-=]1) 210-09 |200,0009 x129= 2,400

A2 35,830 5,750 30,080

S 35,830 5,750 30,080

RZAGEZ RS 35,830 5,750 30,080
7L AR2AYEZE 1 5,830
1) $98= 210-01 57,7009 X 20%= 1,154
2) 211] 210—04 8,000¢ x 427 x 23] = 672
3) 7+ 210-04 3,000 X427 x 43]= 504
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CA)

AFA U < A5 ArEU S 20184 (A) | 2017 (B) Z(A-B)

4) Z3Atr g (AR 500
7hH 71E 210-06 |160,0009 x 29 = 320
W x3 210-06 |90,0009 X 27§ X 1A]7k= 180
5) A g uket s A ] 210-12 300,000 X108 = 3,000
U 22948 E - 30,000
1) £98= 210-01 20,000¢ X 407 x 23] = 1,600
2) ZTRLF 210-01 |10,0009 X 240%= 2,400
3) 211] 210-04 |8,00049 x40 x 33| = 960
4) 7+ 210-04 |3,0009 x40 x 33]= 360
5) AT (dRh) 1,980
7hH 71& 210-06 |70,0009 X 6™ x 33]= 1,260
) %3 210—06 40,0009 X 69 x 3A]7}= 720
6) 2EFel2}a 210-07 |450,0009 X 14t) x 28] = 12,600
7) A %) 210—-12 10,0009 X 370% X 23] = 7,400
]) 393 230-02 15,0009 X 60 x 33]= 2,700

4,696,084 4,188,030 508,054

405,520 375,520 30,000

9 405,520 375,520 30,000

W33 st wgd 31 g 50,000 20,000 30,000
FEQrSstuey 30,000
1) £98= 210—-01 |28,000¢ X 20% X 107 4= 5,600
2) ERLE 210-01 14,0009 x100%&= 400
3) 7+ 310—-01 |3,00091 X100 x 325F= 9,600
4) Z3AM) 310—-01 |30,00091 X 59 X 34| 7k X 325= 14,400
o ] = e 20,000
1) 298= 210-01 42,4009 X 10% x53]= 2,120
2) npSstw A Y 210-13 8,640,000 x 27] 2= 17,280
3) 93 230-01 |15,000¢ x 20 x 23] = 600

2. EEuggaeq 60,000 60,000 0
| 6= 620-03 |12,000,0009 x 1= 12,000
L 2ed 620-03 |12,000,0009 X 41= 48,000

L Z2F5FEL RS WL 171,654 171,654 0
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(9] - )

E—Al 5 A= g 2018 (A) | 20179 (B) | =% (A-B)
171,654
620—03 |8,174,0004 x213w= 171,654
123,866 123,866 0
123,866
79,866
620—03 |5,704,7204 X101 = 57,047
620—10 |5,704,7204 x40 = 22,819
33,000
620—03 11,000,000 X 1= 11,000
620—10 |11,000,0009 X 2w = 22,000
3) ArdeA~EZHAY 11,000
S 620—10 |5,500,000d X132 = 5,500
620—10 |5,500,000¥ X1 = 5,500
= x]%_ 3,696,440 3,579,710 116,730
3,696,440 3,679,710 116,730
3,424,976 3,299,598 125,378
175,176
620—-03 (120,528,000 = 120,528
620—10 [54,648,0004= 54,648
620—03 [939,452,0004 = 939,452
830,307
620—-03 [364,386,0004= 364,386
620—10 [465,921,0004= 465,921
1,480,041
620—03 [365,489,0004= 365,489
620—10 |1,114,552,000¢8= 1,114,552
271,464 280,112 A8,648
13,139
620—03 |8,792,000d = 8,792
620—10 (4,347,000 = 4,347
620—-03 |75,235,0009= 75,235
67,343
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4% (9] - )

=]
ﬂg_g Abd Wi < E—A& A= o 2018 (A) | 20179 (B) | TH(A-B)

1) 29 620-03 |32,045,000¢ = 32,045

2) AFY 620—-10 |35,298,0009= 35,298

2}, 158k 115,747

1) 29 620-03 |28,947,0009= 28,947

2) A 620—-10 |86,800,0009= 86,800
ARSI ANA 250,000 180,000 70,000
OXSEX AT A 2k S 250,000 180,000 70,000
1. 3]27 814 250,000 180,000 70,000

4 ] SR o R R | 69,040

1) »Hd gt w A g 35,000

7H 39 620-03 |1,000,000¢ x 28 .= 28,000

W) A 620-10 |1,000,0009 X 7= 7,000

2) AFh A8 3k -S4 =) 2 210~15 |474,0009) x 103.= 4,740

3) SRS AT ALY 29,300

7} 2593 210-01 |400,0009 x 193] = 7,600

) AlH) 210-04 |8,0009 X 60 x 153]= 7,200

th 721 210-04 |3,0009 X609 x 153] = 2,700

Zp) Zuky) 210-04 |20,0009 X607 x 63| = 7,200

ul) AR (A RD) 4,000

(1) 71& 210-06 |100,0009 x 209 = 2,000

(2) 23} 210-06 |50,0009 X 207 x 2] 7= 2,000

v A (LA 600

(1) 7)% 310-01 |100,000¢] x 3% = 300

(2) =3} 310-01 |50,0009 x 37 x 24| k= 300

S u Al g asx 25,000

1) 29 620-03 |1,000,0009 X 201.= 20,000

2) A 620-10 |1,000,0009 x51= 5,000

|= el TR aei A 104,940

D ASHEES 4,940

7 L9 ex 210-01 |50,0009 x58%= 2,900

) 7+24] 210-04 13,0009 <1809 = 540

th) ZAREE (AR 1,500

- Folaguugod AN — FolEotu w3 3x 9 20/43




GLE

At == A= AEU S 20189 (A) | 20179 (B) | ¥
1) 7]% 210-06 70,0009 x5 x 23] = 700
(2) %3} 210-06 40,0009 x5 x 42| 7k= 800
2) AgEolulx Y 100,000
7P Zolg|dEEE 210-01 |10,000€ X 10% x 28] = 200
W) BE@ otz g 240-01 |1,500,0009 x 409 = 60,000
th el xtg 210-07 [500,0009 x103]= 5,000
2h) Ak (4R 1,100
1) 712 210-06 70,0009 x 109 = 700
(2) =3 210-06 |40,0009 x 107 x 1A 7k= 400
oh) IZPAARE (AR 700
(1) 71 310-01 |50,0009 %108 = 500
(2) %3} 310-01 20,0009 x10% x 1A= 200
nh BEZHH 26,000
1) e98% 210-01 |89,0009 X 100%= 8,900
(2) AP LEA 5 210-12 |500,0009 ¥ 107}= 5,000
(3) HH 210-15 |100,0009 x507}= 5,000
(4) F-24% 210-15 |300,0009 x 207}= 6,000
(5) 2H] 310-01 |8,000¢ x 1009 = 800
(6) 7+ 310-01 |3,0004 x100% = 300
AP H7}3) 4,000
(1) +98% 210-01 |45,0009 % 20% x 23] = 1,800
(2) 2] 310-01 |8,000€ x 1007 x 28] = 1,600
(3) 7+4yn] 310-01 |3,000€1 %1007 x 23] = 600
o}) 2|3 230-02 |15,0009 x50 x43]= 3,000
o} A o] @B A E T 51,020
1) ZFAp] 210-06 |30,0009 x 10 x 1004 2k= 30,000
2) whg st ¢ 210-13 |5,000,0009 x 47] 2= 20,000
3) gol3] 230-02 15,0009 x 17 x 48] = 1,020
ESEA S 49,200
A4 49,200
CEHEASAA G 49,200
7}, S 9 A 8k A 9 44,200
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TFNEA LA (] - A9

?}ﬁg ﬂ;:r AR E == RENE 20184 (A) | 2017H(B) | Z7H(A-B)
1) 258w (1) 620—03 |44,200,000¢ = 44,200
A o R B S PR R e 240
1) &A=k 210-06 (80,0009 x 3= 240
o S HA A Y 4,760
1) £98F 210-01 24,3009 x10%= 243
2) x=EFd g 210-07 [500,0009 X 1v}= 500
3) A|AQlAE 210-07 |225,0009 % 18]= 225
4) A3 210-12 40,0009 X 259 = 1,000
5) <ler-$-o3n] 210-13 |2,000,000¢ x 18] = 2,000
6) 2u) 310-01 |8,0009 x 369 x 23] = 576
7) 7F21H) 310—-01 |3,000¢ x 367 x 23] = 216
k| 294,924 0 294,924
IR Y 294,924 0 294,924
1. 2SS g A FAR Y 153,496 0 153,496
7t 258w 620—-03 |153,496,0009= 153,496
2. 287 @ A FAIR] 141,428 0 141,428
7} 3 Esw 620-03 |67,610,0009 = 67,610
. A Eskm 620—-10 |73,818,000¢ = 73,818
N/ &EE 415,405 54,020 361,385
BARY 94,381 3,491 90,890
R AR 882 1,056 A174
1. RATS RS 882 1,056 A174
7h BA DA 882
1) $98F 210-01 |30,0009 X 10&= 300
2) 9% 210-01 |14,0009 x 36}l X GA| 7= 252
3) AR (AW 330
7h 7|5 210-06 |70,0009 x 3% = 210
W) =3} 210-06 |40,0009 X 37 X 14|3}= 120
w37 9 A A 93,499 2,435 91,064
1. sty HE=EEAF 275 275 0
7h A A 275
1) $oax 25,0009 X 1 %= 25
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R

AF A= AEU 20184 (A) | 20179 (B) | T (A-B)
2) AAR 210-01 10,0009 X 253]= 250
2. FATHUSEHRS 2,160 2,160 0
7h WS EH H S 9 ¢ 1,760
1) FA ) 210-06 [80,0009 X117 x 23] = 1,760
U e A TS 400
1) o3n] 310-01 |20,0009 x5 x 43]= 400
3. S aTFYYRS 91,064 0 91,064
7F ojdlol &E B XA A 91,064
1) AAm] 420-02 |87,460,0009 X 3.276%= 2,865
2) AAn 87,460
H Hex 29,840
(1) A=A (A7) 420-03 14,920,000 x 221 = 29,840
W} =dx 57,620
(1) wAwupeku A 420-03 12,080,000 x 421 = 48,320
(2) Z2YUETA (G| EE 420—-03 1,430,000 x 34 = 4,290
(3) AE=AH) 420-03 |1,670,000€ x 34 = 5,010
3) Al H-on) 420-05 |87,460,0009 X 0.845%= 739
F 217 300,369 29,874 270,495
kS| 4,940 3,184 1,756
1L 42 HH L9 4,940 3,184 1,756
7h. B g A B A A A 3,032
1) $98= 210-01 |30,0009 X 15%= 450
2) dix 210-01 |14,0009 x 30}l X GA]ZF= 252
3) 2] 210-04 |8,0004€1 x100% = 800
4) ZAA (4R 330
7 7] 210-06 | 70,0009 x 39 = 210
) =7 210-06 |40,0009 X 3% X 14| 7k= 120
5) A&n 210-12 12,0009 x100% = 1,200
. g e A= AL 158
1) $oex 210-01 |79,0009 x 2%= 158
L= =TT R R e R ol 1750
1) 34359 310-01 |50,0009 x 359 = 1,750
WG - ol EFEAS — B 1585 — 32 de - StudAad 23/43




(9] - )

)=
ﬂg_g Abd Wi < == A5 AHEU S 2018 (A) | 20179 (B) | TH(A-B)

[ RTA= AR 26,690 26,690 0
[ RTAE RS A S R R 26,690 26,690 0

7} F A 2o n) 620-03 |2,669,0009 x 10t= 26,690
st FASAAFMNA 268,739 0 268,739
1. s FA 7T &= 268,739 0 268,739

7F wAA A d st 38,750

1) 23F (EA7FAQ) EAD 38,750

7H A8 420-02 12,000,000 x 12 = 2,000

) AJAdH] 34,750

(1) EAZFERIY SAHE S 420-03 |33,550,0009 x 12 = 33,550

(2) SV F == A 420-03 |1,200,0009 X 14]= 1,200

th 7]F-0] ] 620-04 |2,000,0009 x 1= 2,000

U =S FA 7 T | 229,989

1) 2=8kw(111) 620-03 |122,864,0009= 122,864

2) 15su 107,125

7hH ¥ 620-03 |3,371,00091= 3,371

) AFH (33) 620-10 |103,754,000¢ = 103,754
o3& 20,655 20,655 0
A3 AL 20,655 20,655 0
1. AFASU A4 1,000 1,000 0

7h. A= A S 3 1,000

1) &98= 210-01 |50,0009 x10%&= 500

2) A 310-01 |100,000€ x54= 500
2. A 2dA S g 1,600 1,600 0

7h A Ad A S 3 1,600

) eodgx 210-01 |50,0009 x 8= 400

2) e 310-01 |100,0009 x 129 = 1,200
3. 7|ek A S 3 18,055 18,055 0

7t 57wl o) & 3,940

1) 743 3,940

7hH &9 8% 210—01 |32,4009 x50%F= 1,620

W) Adard 1,440

- BA/FA/AEDE - AFASHE EE - A5 Ad
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(9] - )

AU o S-A= AEY 20189 (A) | 2017d(®B) | SH(A-B)
(1) 71 210-06 40,0009 x12% x 23] =
(2) 23} 210-06 |20,0009 X 127 X 2] 3=
th A|ldAdxt= 210-07 |200,000€ x13]=
b A1) 310-01 |8,000¢1 X854 =
L}, 187kl o) 3]
1) 733
7h 2ol ats 210-07 |400,000€ x 3th=
) &4 71| 310-01 |71,0009 x45%=
2) WA YA L) 3] 210-01 |100,0009 X 20% =
ER RS
1) $98= 210-01 |60,0009 X 37%=
2) A
7h 7] 210-06 |40,0009 x 10 =
W) %3 210-06 |20,0009 X 104 3t=
3) AlAdxtE 210-07 |250,000¢ x13]=
2}, k) 24 o) 3]
1) $98= 210-01 |50,0009 X 66%=
2) & o3 230-02 |15,0009 X 457 X 23] =
328,363
£A203,706
TR t) P A203,706
1. ga718egH 496,365
7F 429 620-02 |794,444,0009=
U xE8ky 620-02 |3,925,214,000¢1=
. 2w 620-02 |1,664,086,00091=
R XX £107,341
7k w4t ol Al
1) 258w (2w) 620-04 |20,000,000¢1=
2) =& (1) 620-04 |3,000,000€=
AP A R A A124,657
QAN ATA £108,909
1. QAU AT ZE £108,909

AA A — ARG AL - AAHAG DA A
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azt A% (9] - )
ﬂ:g AU o S—A5 ArEue 20189 (A) | 2017 (B) 7 (A-B)

7k el An % Y 620-08 |5,934,843,0009= 5,934,843
S gn AR A=Y 1,154,030 1,169,778 A15,748
1. LA AARAETHZ 1,083,326 1,169,778 286,452

7}, & 7] E--3 ) 620-09 |1,083,326,000¢= 1,083,326
2. A9 &t a7 eh&-gu A g 70,704 0 70,704

7. w5l A 70,704

1) 1538w (21) 620—11 |70,704,0009= 70,704
St WS AN HA A 7,432,777 4,636,465 2,796,312
WANA] A 627,224 907,861 £A280,637
B A EAEANE 627,224 907,861 A280,637
1. = FAEEEA 4,224 51,120 £A46,896

7} A A A 4,224

1) 23g= 420-03 |128,0009 % 33m'= 4,224
2. GEARG (7)) A A 623,000 710,722 ABT7,722

b uAZqE 623,000

1) AAm] 420-02 |602,265,0009 X 2.785%= 16,508

2) AlAdH] 420-03 1602,265,0009 X 1%§= 602,265

3) Al Eon) 420-05 |602,265,000€ X0.702%= 4,227
A A A 6,805,553 3,728,604 3,076,949
St A TS MA 6,805,553 3,728,604 3,076,949
1. ZAFSA 2,928,649 1,800,756 1,127,893

7. vpekbR 2 668,649

1) AAm] 420-02 |646,400,00091 X 2.748%= 17,763

2) A4 646,400

H 2% 420-03 [11,300,000¢9 X 14 = 11,300

W AEx(12) 420-03 |16,050,0009] x 44 = 64,200

h A" x(2%) 420-03 |11,300,000€l x 54 = 56,500

2H A=) 420-03 |25,500,00091 X 94 = 229,500

uh) AlYE(12) 420-03 |16,050,000¢ x 74 = 112,350

) AEE(22) 420-03 |11,300,0009l X 8.54= 96,050

Ap obrbks (73 420-03 |25,500,0009 x 32 = 76,500

3) A FH) 420-05 |646,400,00091 X 0.694%= 4,486

m

AN — BSBA WA — S A w43 7R
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AR S = T A S R (cFe] : 19
Z o )=
Bopnm ;‘3}2“ ?};3 ﬂg NERE = = 20184 (A) | 20174 (®B) | Z7(A-B)
L S 258,200
1) Al 256,355
7hH 3G x 420-03 |8,690,00091 x 12 = 8,690
) tholx 420-03 |8,690,000¢ x 22 = 17,380
o) Hx 420-03 [8,690,0009 x3.5%= 30,415
Zh) Ay 420-03 |8,690,000¢1 X 3.04= 26,070
nh) &f2s 420-03 |8,690,000¢ x 202 = 173,800
2) AR 420-05 |256,355,0009 X 0.720%= 1,845
th )R- FE wA (o] F ) 1,148,160
1) A AN 420-02 1,114,525,0009X2.427%= 27,049
2) Al/dn] 1,114,525
7H ¥&x 420-03 120,450,000 X 15.52= 316,975
) djo}x 420-03 |20,450,0009 X 72 = 143,150
o} wjArkx 420-03 [20,450,0009 x84 = 163,600
) MEx 420-03 [20,450,0009 x12.52 = 255,625
v 13 420-03 |20,450,0009 x11.54= 235,175
3) Al o] 420-05 |1,114,525,000€ X0.591%= 6,586
CEEFHYEY A 51,550
1) AlAdH] 51,550
7h Asx 420-03 3,310,0009 x 84 = 26,480
W a3E 420-03 |2,130,0009 x84 = 17,040
o AF = 420-03 |1,460,0009 x5.54= 8,030
ul Q]HH 547,792
1) AAm] 420-02 |528,956,0009 X 2.846%= 15,054
2) Al 528,956
b 3ex 420-03 |12,596,0009 x 15.54 = 195,238
) mjakx 420-03 [12,5696,0009 x84 = 100,768
) Hdesx 420-03 |12,596,0009 x12.54 = 157,450
2h) alg T A gAd) 420-03 |75,500,0009 x 1% = 75,500
3) A 420-05 |528,956,0009 X0.715%= 3,782
w97 w4 19,080
1) AlAdn] 19,080
g - FOURFERS — SR FAANAAA — T KAAAAANY - SFRAL T EANA 27/43




(9] D)
A S == A5 AU S 2018 (A) | 20179 (B) | TH(A-B)

7h thakE (%) 420-03 [530,0009 x 1641 = 8,480
W) Ak E (-39 %) 420-03 |530,000¢ x 72 = 3,710
) 5% 420-03 |530,0009 x 134 = 6,890
Ab A B H G 235,218
1) AAm] 420-02 155,190,000 X 3.229%= 5,011
2) Al 229,090
7h el 420-03 |14,780,0009 x 524 = 73,900
W) Ty= 420-03 |14,780,0009 x10.54 = 155,190
3) Al H-t8] 420-05 |155,190,000€ x0.720%= 1,117

2.9 - PEAENA 207,601 181,021 26,580
7ho - A 207,601
1) AAm] 420-02 |200,760,0009 X 2.688%= 5,396
2) Al 200,760
7hH 13 E(GFHE) 420-03 |7,170,00091 x 22 = 14,340
W) mAb xR (F8%) 420-03 |7,170,0009 X 54 = 35,850
) BdE(EHE) 420-03 |7,170,0009 x 54 = 35,850
) Bdx(FX4%) 420-03 [7,170,0009 x 14 = 7,170
uh) Fekx (FX9%) 420-03 |7,170,0009 x 22 = 14,340
uh) Az 420-03 |7,170,0009 x 42 = 28,680
A EYE(FAE%E) 420-03 |7,170,00091 x 32 = 21,510
oh) Tg= 420-03 |7,170,0009 X 44 = 28,680
2P e 1 420-03 |7,170,0009 x 24 = 14,340
3) A| A HE-n8] 420-05 |200,760,0009 xX0.720%= 1,445

3. AldtAMNA 1,694,668 1,066,086 628,582
7t W R w7 683,402
D W858 7H 589 73,000
7hH 1Z = 420-02 |35,000,0009 x 14 = 35,000
W) FEx 420-02 |38,000,0009 x12]= 38,000
2) Al 606,564
7H TE% 420-03 |87,0009 x2,852m'= 248,124
W Az 420-03 [87,0009 x4,120m'= 358,440
3) Al o] 420-05 |606,564,0009 X0.701%= 3,838

m

AN — B ANAANNE — St A w2 A
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CA)

A A= ArEU S 2018€(A) | 20174 (B) 7 (A-B)
L R is 14,864
1) A|Adn] 14,864
7h k& (3 420-03 |4,0009 x2,661m'= 10,644
W) AUz (T 420-03 |4,0009 % 1,055m'= 4,220
o} & 196,280
1) A A 420-02 188,370,000 X 3.459%= 6,515
2) A|An 188,370
7 dolx 420-03 |483,0009 X 70m'= 33,810
W &gz 420-03 |483,0009 x 150m'= 72,450
) AgE 420-03 |483,00091 X 80m'= 38,640
) Tux= 420-03 483,000 X 90m'= 43,470
3) A] A E ] 420-05 |188,370,0009 X 0.741%= 1,395
2k A7 (M) w A 800,122
1) A7 420-02 |774,465,0009 X 2.642%= 20,461
2) A An 774,465
D nZAGE1= 420-03 19,460,000 x 12 = 9,460
W) w3z (2= 420-03 |11,470,0009 x 184 = 206,460
o T (1%) 420-03 |9,460,0009¢ x 34 = 28,380
h Bdx(2F) 420—03 11,470,0009 x 3.5 = 40,145
0} Eolx (X 420-03 |9,460,0009 x 241 = 18,920
Hh) A% (1) 420-03 |9,460,0009¢ x 14 = 9,460
R ENCAS! 420-03 |11,470,0009 X 941 = 103,230
oh) $Yx (AT 420-03 11,470,000 x 24 = 22,940
b Adls(2F) 420-03 11,470,000 x 821 = 91,760
FOEA=EIG 420-03 19,460,0009 x7.54 = 70,950
7H T4 =(2%) 420-03 |9,460,0009 X 1.54 = 14,190
) nZu 420-03 |11,470,00091 x 32 = 34,410
) &g (1) 420-03 |9,460,0009 x 14 = 9,460
sh) sl #]a(23) 420-03 |11,470,0009 x 104 = 114,700
3) A]AH ) 420-05 |774,465,0009 x0.671%= 5,196
4, QREHNA 373,484 81,272 292,212
A= 60,217

m

NA - BEBANANA - AL TG RRANA

29/43




3 CREEE)

ﬂ:g At S A A 20184 (A) | 201794 (B) | FH(A-B)
1) Aldn] 59,595
b BFE5xY 420-03 |471,0009 X 45m= 21,195
) AE s 420-03 |640,0009 X 60m= 38,400
2) Al EoiH] 420-05 |59,595,0009 X 1.045%= 622
w2 179,553
1) AAm] 420-02 172,040,000€) X 3.598%= 6,189
2) Al 172,040
7H tholx 420-03 |253,0009 X 100m= 25,300
W) gz 420-03 [253,0009 X 400m= 101,200
th 9= 420-03 |253,0009 X 180m= 45,540
3) Al HF-tn] 420-05 [172,040,0009 X 0.770%= 1,324
o} 2% 100,314
1) A AH] 420-02 |95,400,0009 X 4.235%= 4,040
2) Al 95,400
7H A= 420-03 |159,000€9 X 600m'= 95,400
3) ATt 420-05 |95,400,00091 X0.917%= 874
2. Tl A 33,400
1) Aldn] 33,400
7hH 1A= 420-03 |167,0009 X 200m= 33,400
5. A7 A2 NA 526,243 126,188 400,055
7} 2" A4 (LED) 511,123
1) A]Adn] 507,475
7 BEERAY 420-03 12,650,0009 X194 = 50,350
W) uax 420-03 |2,650,0009 x 324 = 84,800
oh 13z 420-03 2,650,0009 x 194 = 50,350
2} djo}x 420-03 |2,650,0009 X104 = 26,500
np) Bolx(E3E) 420-03 12,650,000 x6.54= 17,225
vh) Bl x (Fx9%) 420-03 |2,650,0009 x 24 = 5,300
AP H-ekx (F21€9%) 420-03 |2,650,0009 x 42 = 10,600
o}) Folx (2 W& 420-03 |2,650,0009 x 44 = 10,600
ZH ez (AAZH) 420-03 [2,650,0009 x 52 = 13,250
2p) Az 420-03 |2,650,00091 x 102 = 26,500

A = &R N AL - A WL EE AN 30/43




R

At S A e 2018 (A) | 2017 (B) #(A-B)

7hH Y= HD) 420-03 |2,650,0009 x 14 = 2,650

EhH A= 420-03 12,650,000 x84 = 21,200

b FeF 420-03 2,650,0009 x 234 = 60,950

3hH 9= 420-03 2,650,0009 X924 = 23,850

) 131 420-03 |2,650,0009 x 2924 = 76,850

u) sfE 420-03 2,650,0009 x 104 = 26,500

2) A Xn] 420-05 |507,475,0009 X0.719%= 3,648
U A7 855 15,120

1) Al 15,120

7h wjAkx 420-03 |336,0009 X 25kw= 8,400

) djo}x 420—03 [336,0009 X 20kw= 6,720
6. AANAANETTESF 21,600 0 21,600
7} 2 FH A A 21,600

D &% 620-04 |3,420,0009 x 11= 3,420

2) tholx 620—04 5,820,000 X 11m= 5,820

3) AEx 620—04 6,360,000 X 131= 6,360

4) ALY 620-04 |6,000,0009 X 11= 6,000
7. FANA 680,000 239,149 440,851
- R 680,000

1) AAH] 420-02 1653,800,0009 X 3.291%= 21,676

2) Al 653,800

7hH 1% % (F41H) 420-03 |82,790,0009 X324 = 248,370

W} YR (FA49%) 420-03 [82,790,000¢ X 14 = 82,790

o 13 (FAE) 420-03 |82,790,000¢ x 24 = 165,580

2h) Al (3d%) 420-03 |89,140,0009 x 12 = 89,140

vh) 1#1(7])5AE) 420-03 |22,640,0009 x 34 = 67,920

3) A|AFn] 420-05 653,800,000 X0.692%= 4,524
8. AFSA (A=) 277,112 79,400 197,712
7}, QI E B 277,112

1) A= 620—11 [12,596,0009 x 2224 = 277,112
9. ZAAAMNA (A1) 50,000 0 50,000
7t W52 50,000

m

A = &R N AL - A WL EE AN
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GRIE L)

s Ayl %A% SENE 20189(A) | 20179(B) | SF(A-B)
1) 1Zo= 620-11 |50,000,000¢ x 14 = 50,000
10. A2 tA A (AHR) 14,796 24,292 9,496
7} A9 A7 14,796
1) 23G= 620—11 |4,0009 x1,955m'= 7,820
2) 1FEZ AP 620—11 |4,0009) X 303m'= 1,212
3) 1ZAEZT(TIEAD 620-11 |4,0009x1,123m'= 4,492
4) GAZFHSA) 620—11 |4,0009 X 318m'= 1,272
11. JF-SIFZNA (A=) 31,400 0 31,400
7. FEl A (29)) 31,400
1) == 620—11 |157,000€ X 200m= 31,400
134,784 83,626 51,158
134,784 83,626 51,158
PTG 3R Y 25,230 22,630 2,600
AR EA ALY A & 630 630 0
1 ARz H43L9 630 630 0
7} A 210-06 |80,00091 X 6= 480
. gol3 230-02 15,0009 %10 = 150
b =Nt P 24,600 22,000 2,600
1. BQ&EBLAR Y 24,600 22,000 2,600
7k A F AR AL REY 24,600
1) $98% 210-01 |61,0009 X 20% X103 = 12,200
2) Z3Ard (4R 310-01 |40,000¢ X 15 x 203]= 12,000
3) 21n] 310-01 [8,000€1 %10 x53|= 400
109,554 60,996 48,558
#2929 109,554 60,996 48,558
1. 3EEABEA = 30,000 25,000 5,000
7} EATY 430-01 |15,000€ x2,000¢8 = 30,000
2. ZRIEANAAE YN TS 40,300 0 40,300
7F A7 A el g 210-13 |66,6309 x 141 x33]= 2,800
v A7) 430-01 |1,500,0009 x 257} = 37,500
3. gAREAREAL9x Y 18,400 16,000 2,400
7F L9 8% 210-01 |50,0009 X 10% x 23] = 1,000
ng - 3 3 - A S - ARG 32/43




CA)

AF A= E 2018€(A) | 20174 (B) 7 (A-B)

- DI R=] 210-02 |450,0009 x 128 = 5,400
T}, 82 K. Z=h) 210-09 |1,000,0009 X 129 = 12,000

4. R YR AR 2SS 2,000 3,000 A1,000
7}, Tl A g e 9 430-01 |20,0009 X 100%= 2,000

5. ZTRXEAN AL PSS 10,800 9,654 1,146
7h B ARG 4,800
1) $938= 210-01 |20,0009 x 20% x 93] = 3,600
2) AR (AN 310-01 |40,0009 x 37 x 103 = 1,200
L A A Zhol k=) 3t 6,000
1) Sog= 210-01 |20,0009 x 10% x 63| = 1,200
2) A (dnh) 310-01 |40,0009 27 x 603] = 4,800

6. TLZEABLAH A Y 8,054 7,342 712
7}, oF7rerA g o 210-13 |671,1609x129= 8,054

EXIE)! 8,519,628 1,934,039 6,585,589

A=Y 1,342,009 1,267,208 74,801

11,678 14,507 272,829

718 &+ 8,418 11,247 22,829

1. 2R AYEYZA 8,418 11,247 72,829
7h 1S 3] 3,300
1) $og= 210-01 |20,0009 x 20%= 400
2) 27 A = 210-01 |4,0009 X 500%= 2,000
3) &ol3] 230-02 |15,0009 x 20% x 3% = 900
L AR A N 1,250
1) $938= 210-01 |50,0009 x 13%= 650
2) 7+A1H] 310-01 |3,0009 %200 = 600
oh a A ARE E 3] 2,298
1) 24 210-04 |8,0009 X 41 x 63| = 1,968
2) A (W 330
71 7R 210-06 |70,0009 x 1% x 33]= 210
W} z3} 210-06 |40,0009 x 17 x 34| k= 120
2 = FAE R 1,570
1) A=A = 210-01 |10,0009 x 65% x 23] = 1,300

A7 H e -

o,
)

718 ¥
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7187 AR R RS54 93 (91 e
N o i=]
Bopnzw f}; ?};3 ﬂgd: PRSI 5 A% AESEL 20189 (A) | 2017d®B) | 7 (A-B)
2) {23 230-02 |15,0009 X9 x 23]= 270
RETASE: R 3,260 3,260 0
1. 2S5 YAA A L3 2,360 2,360 0
7h nEA QN aE 9 A3 2,360
1) $ogx 210-01 |28,000¢ x2%= 56
2) A5 210-06 |80,00091 x 9% x 35| = 2,160
3) 2] 310—-01 |8,00091x 97 x 23] = 144
2. a A AR A H5EHA 900 900 0
7h g HH AR A 900
1) Sog= 210-01 |18,0009 x10%= 180
2) ]3| 230-02 15,0009 x 167 x 33]= 720
A7 1,850 1,850 0
A3 1,850 1,850 0
1. A A 600 600 0
7}, ZAAFEE N 250-04 |5,00091 X3 x403] = 600
2. R LAY )73 1,250 1,250 0
7}, Ao 1,250
1) $98= 210-01 |20,000€¥ X 15%= 300
2) A (A 500
7h 7= 210-06 |160,0009 %28 = 320
W) 37 210-06 90,0009 x 27 X 1A] b= 180
3) ¥e]3 230-02 15,0009 x 157 x 23] = 450
71 &3 7} 2,000 0 2,000
71 &3 7} 2,000 0 2,000
1. ZS3 A7) AR DALY 2,000 0 2,000
7h L&A 437t 2,000
1) AAG 7 A G M A w7 500
7 A=A = 210-01 |5,0009 X 504 x 23] = 500
2) A3 7H 2 8l 1,500
b e e 210-01 |15,000€1 X 10% x 28] = 300
h 24w 210—-06 80,0009 x 37 x 33| = 720
o} #HAan) 210-06 |20,0009 x 37 x 33]= 180
W - AHAN - wHFPAt - 7] @F 7 - 71337 34/43




VL HEA A G

)=
o | A NERE %A A& 20184(A) | 20174 ®B) | Z7(A-B)
2} o) 3] 230-02 |15,00091 x 107 x 23] = 300
BB Rk 7,848 51,598 243,750
S AR BAAEL S 7,848 51,598 £43,750
L A3 ULY 7,188 50,938 £43,750
A T A b 3,000
1) S99 210-01 |55,0009 X 10% x 28] = 1,100
2) PC4¢ 210-09 50,0009 X 208]= 1,000
3) AW A A FE (E4) 430-01 900,0009! x 1t}= 900
L AR ] A B 4,188
1) H/WEA B2 210-09 |52,350,0009 X 8%= 4,188
2. FH 1A FA 660 660 0
7h. E o] A Q1 gl A H] A 210-01 |55,0009 x 129 = 660
R EEEEER: 1,303 823 480
H] 3 tn) Al & g B kA 1,303 823 480
L. v A 2 g B qa g 600 120 480
7h Adebd g | 600
1) $99F 210-01 24,0009 X 10%= 240
2) AlH] 210-04 8,0009 X 45 = 360
. eAAS 703 703 0
PR 210-01 |14,6009 5% = 3
[BERARE] 210-04 8,0009 X 45 = 360
o}, 7+-20n) 210-04 |3,0009 % 459 x 23] = 270
o AA BT 600 29,940 £29,340
SRS 600 29,940 £29,340
1. 53 A EGFR 600 300 300
7}, A s A = 210-01 10,0009 X 30%-= 300
. 93 230-02 [15,0009 %107 x 28] = 300
A7 26,330 34,975 A8,645
TS AANUEZ AT 26,330 34,975 A8,645
1. & - ZoAART 7,380 7,540 A160
7V BRGNS AR 210-01 550,0009 x 63 = 3,300
U 5755 E 210-01 50,0009 x 63 = 300
W - WY - w P AN - AR - FFASLES T 35/43




VL HEA A G

e A Aol el == AEU 201849 (A) | 2017d(®B) | £%(A-B)
A | AR
o}, #A 5o} 210-06 80,0009 x 27 x 45| = 640
2. ¥ w T 210—-15 |410,00091 x 43]= 1,640
ul, A g5 250—04 60,0009 x 19 x12¥= 720
vl 3] 3] 230—02 15,0009 x 13 x43]= 780
2. AEA| A A GFEA 3] 1] 18,950 18,985 A35
7F. S A) A A G E A 3] 1) 210-02 |18,950,00091= 18,950
Al ) A 2 1,179,376 1,008,567 170,809
A H)) X] A) 2 o) 1,179,376 1,008,567 170,809
1. A X G FEF=2 300 300 0
7}_ ¥ 2] 3] 230-02 |15,0009 X109 x 23] = 300
2. 2B AR 1,111,244 954,965 156,279
75 AL A0 AN 110-03 |114,000€ x503] = 5,700
R et oA <) 1,000
1) $98= 210-01 |25,0009 X105 x 23] = 500
2) 7 (A 500
7hH 71E 210—06 | 160,000€ x 1% x 23] = 320
W} ¥ 210-06 |90,000¢ X 178 x 24| 3k= 180
o} S AP 153,197
1) x990 620-03 |8,882,00091= 8,882
2) =5&w (150)) 620—03 |123,275,000¢9= 123,275
3) o] sy (2t) 210—10 |21,040,0009= 21,040
g2k, AR A== (124) 210—07 574,847,000 = 574,847
ab, QAR EAFQIZ 1] 252,000
1) $x¢ 620—01 14,000,000¢ x 17 = 14,000
2) 253w 620-01 |14,000,0009 %173 = 238,000
v}, B3kl 27 210-03 |50,000¢) X304 = 1,500
A}, BB AT (3491%) 430—01 110,000,000¢ x 1th= 110,000
o}, B3t AL 620—03 13,000,0009 x 11L= 13,000
3. g5 A 67,832 53,302 14,530
7b BA R A Y (103) 620—03 |67,832,0009= 67,832
s ul=u 583 g 6,684 6,694 A10
R gul=n y-83e] g 6,684 6,694 A10

oyl — ShR R ulFyl W g Hod el — ShRmulF il w g Ho] ) 36/43




7187 AR R RS54 93 (9] - A Q)
o )=
wopvy S0 | 2R | AT Aripel %A% SESE 20184 () | 20179 (B) | S7(A-B)
1. guLg 9 d3 3,684 3,694 A10
7h e d el ddSg 3,684
1) Loex 210-01 |20,0009 x 38% x 23] = 1,520
2) Z3ArE (4R 500
7} 7|5 210-06 |160,0009 x 28 = 320
W) 23 21006 90,0009 x 27 X 1 A] 7= 180
3) byt 210-06 |40,0009 x 2= 80
4) 93 23002 |15,00091 x 447 x 23] = 1,320
5) 7-41H] 31001 |3,0009 X447 x 23] = 264
2. RS FAGdsgA ¢ 3,000 3,000 0
7}h, SRR Aol A 3,000
1) Loex 21001 41,0009 x 15% x 23] = 1,230
2) A (dh 220
7p 7= 310-01 |70,0009 x 17 x 23] = 140
W) =3 31001 |40,0009 x 178 X 2A] b= 80
3) A)%7]H2FA 8] A ) 210-06 |20,0009 x 1% x 103 = 200
4) An) 31001 |8,0009 X 25 x 33]= 600
5) 7HA1H] 310-01 |3,0009 % 257 x 108 = 750
A2 ArE & 104,340 118,254 A13,914
A A 2 104,340 118,254 13,914
1. A AAI F3A 4 104,340 118,254 A13,914
7h. A A e 87,044
) HA e e 210-13 [10,581,000¢1= 10,581
2) g 210-09 |75,819,00091= 75,819
3) Al By 420-05 |644,00091= 644
L 7S A S A 4] e 7,296
1) 233 210-13 |608,00091x 129 = 7,296
= eI RN ES e s R B e A A Rl 10,000
D &% 62004 |5,000,0009 X 1= 5,000
2) wjAFE 620-04 |5,000,0009 X 13= 5,000
X 7,177,619 666,831 6,510,788
71 E-2gH) 466,495 411,356 55,139
W - WEHURE - 7| HEF T - VRG] 37/43




2% (gl - A9

)=]
ﬂg_g AU o == Al ArEue 2018 (A) | 20179 ®) | SH(A-B)

IR B R 466,495 411,356 55,139
1. 71245534 27,840 27,480 360

7h 71789 73 vl 27,840

1) 7)BFA A F G FEF=1) 250-02 |400,0009x 129 = 4,800

2) 71 #-L G Y FEF71] 230-01 |21,000,00091= 21,000

3) ALY EF=721] 230-01 |40,0009 X519 = 2,040
2. 71389 7N 217,149 175,599 41,550

7F. AREE- 7 b 8,325

1) A ETE 210—-01 |342,0009x12¢= 4,104

2) 9JFalx 210-01 |21,2109 X 100%= 2,121

3) ¥ &En 210-03 |300,0009 x 74 = 2,100

L AHEE A 36,280

1) AFEH (EA) 430-01 |900,000€ x 20t = 18,000

2) BUE 430-01 |250,000€ x 15t = 3,750

3) ZHE (A4) 430-01 |450,000€ X 6t]= 2,700

4) ZE (Hg,A3) 430-01 |2,170,0009 X 1th= 2,170

5) B 430-01 |4,950,000€ x 1th= 4,950

6) A&7 430-01 |3,500,000¢ X 1th= 3,500

7) 713E 430—-01 |242,0009 X 5t)= 1,210

. FEewgAlAl 38,990

1) A28+ 210-02 |1,650,00091 %129 = 19,800

2) Asla =+ 210-02 |1,000,0009 x 124 = 12,000

3) Al EeF 210-02 |125,0009 %129 = 1,500

4) SAQF 210-02 |25,0009 x129= 300

5) A& AT 210-02 100,000 x23]= 200

6) ARZ=RAE 210-02 (26,0009 x 15 = 390

7) AE Y EAIN 210-02 400,000€ x 129 = 4,800

2. G 2e 14,358

1) Fo1A4n g4 210-13 |109,000€ x 129 = 1,308

2) A 210-06 |50,0009 X 2619 = 13,050

o}, A Aba 52,548

1) dsaAgn 210-09 |974,000¢ x 23] = 1,948
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(9] Q)

A S == A5 AU S 2018 (A) | 20179 (B) | TH(A-B)
2) 8o 210-13 [1,100,0009 X129 = 13,200
3) A7k R A 7,200
7H HAF 210-02 300,000¢ x 28] = 600
W) makALE 210-02 [1,300,0004 x 23] = 2,600
) )AL= 210-02 1,000,000¢ x 23] = 2,000
2}) thakale 210-02 |1,000,0009 x 23] = 2,000
4) A9 YE 7 210-02 |1,000,0009 x 23] = 2,000
5) HAFE-X] K2 210-09 1,350,0009 x12¢= 16,200
6) AFE-R-X) B4 210-09 |1,000,0009x129= 12,000
nE A FH| 1,184
1) ARFA gl ok Al it 210-08 |8229x8A7kx 90 x 2= 1,184
Ab. Al 2H] A B 11,016
1) 3y #H] 210—09 |143,600¢ X 20% x 33]= 8,616
2) 4571 210-09 50,0009 x12¢ x 4= 2,400
of. THEAFY 22,648
1) ¥ 54 (30,000kme]) 210-10 |10,238,0009¢ x 1tj= 10,238
2) ¥ 53 (15,000kme]’d) 210-10 |12,410,00091 X 1tj= 12,410
2, BE TS 430—01 31,000,000¢ x 1djj= 31,000
2F, A 800
1) 453k 800
7h BET4 210-01 |10,0009 X 505= 500
) 98 210-01 |20,000¢ x157= 300
3. 718X 9 48,000 48,540 A540
7k ARIE RS 48,000
1) 9 8% 210-01 [10,0009 x11%FX53]= 550
2) A7 ES = 210-01 |51,0009 x 1%&= 51
3) T LT UAA 34,555
7hH A7+ 210-02 12,500,000 x12¥= 30,000
W) A3te 210-02 [100,0009x12¥= 1,200
th AstrE Qo 210-02 100,0009 x 129 = 1,200
2h) S TA 210-02 19,0009 x 1t x129= 108
up) A7|FA ARG E 210-02 |78,540¢¥x12¢¥= 943
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)

At S A e S 2018 (A) | 2017 (B) #(A-B)
Hh) A A ASSE 210-02 |88,0009l x12¥= 1,056
AP 43l #ke] 23] 8] 210-02 |48,0009 %13 = 48
4) 3 7] Lo00
7hH FeolAn| L 210-13 |150,0009 x129= 1,800
5) oju] 2,080
7h ) 220-01 |20,0009 x 47 x 203] = 1,600
) T 220-01 |40,0009 x 47 x 38]= 480
6) AR A B 2,694
7} Hped = 210-01 |50,0009 x58]= 250
) 34 A 210-09 |50,0009 x 123]= 600
th) A7) 210-09 |202,0009 x 2t)= 404
2h) Al e 210-09 |120,0009 x12¥= 1,440
7) AEaed 3,600
N LG eE 210-01 |300,0009 x12¥= 3,600
8) M1 2,670
7V AFE (EA) 430-01 900,000¢ % 1tj= 900
W) ZYE 430-01 |250,000¢ x 1th= 250
h A= 430-01 |500,000¢1 % 1t)= 500
b ZAE (A4) 430-01 |1,020,000¢ x 1tj= 1,020
4. BA71ELF A 133,866 120,851 13,015
7} A A3t 86,174
D) dRk-dn] 13,264
7h FA 210-01 |1,200,0009= 1,200
W 71 210-01 |416,0009 X297 = 12,064
2) Euj2)u] 210-05 |8,000€ x 291 x 303] = 6.960
3) o) 50,590
7hH =y 220-01 |20,000¢ x30% x 383]= 22,690
W) =4 220—01 40,0009 X309 x183]= 21,600
h &9 220-01 |70,0009 x 307 x 33| = 6,300
4) Fr]$-od Q= 71] 230—01 350,0009 x12¢= 4,200
5) 2 MFA T Z=21) 250-02 100,000€ x 129 = 1,200
6) 584N 9,960
Eo o] — w&x 24 40/43




GRIE L)

A S == A5 ArEU Y 2018 (A) | 20179 (B) | TH(A-B)
7hH AAtE e 250—-03 150,000 x 38 x 129 = 5,400
W) e 250-03 80,0009 x 2% x 129 = 1,920
) AT 250-03 60,0009 x 29 x 129 = 1,440
2} st x| g3 9] 250-03 100,000 X198 x129= 1,200
= A SRR 47,692
1) Yrbe-en] 6,608
7 B 210-01 |1,200,0009= 1,200
) 7fel 210-01 416,0009 x13%= 5,408
2) Eu A n) 210-05 (18,0009 x 139 x 313]= 3,224
3) o] 30,780
7 #H) 220-01 |20,0009 X147 x6938] = 19,320
) Ty 220-01 40,0009 X149 x1038]= 5,600
) £9 220-01 |70,000€] x 14 x 63]= 5,860
4) AAFAEFH0H] 250—02 [100,0009x12¢¥= 1,200
5) Ha]g-ol o] = 201) 230-01 |350,0009%x12¢¥= 4,200
6) 5457 1,680
7hH FuRA(SFART) G 250-03 80,0009 x 18 x12¢¥= 960
W S (S gy 250-03 60,0009 x 1% x129= 720
5. EAB7|EAFF2Y] 9,336 7,876 1,460
7} A HbR-G b 2,376
D 713 210-01 |800,00091= 800
2) MAF 210-01 394,000 x4 = 1,576
U, EZuj Al ] 210-05 [8,0009 x4 X603 = 1,920
ok B4 31 230-01 |100,0009 x 129 = 1,200
g} A A FPFF21] 250-02 |100,0009 x129= 1,200
v}, o H] 2,640
1) ¥ 220-01 20,0009 x4 x 183]= 1,440
2) & 220-01 [40,0009 x4 x 43]= 640
3 = 220-01 [70,0009 x4 x 23] = 560
6. S B4 H| 30,304 31,010 AT06
7F 71329 5,120
1) &98% 210-01 [20,0009X33% % 23]= 1,320
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AL EA 2 (=9 : 319))
)=
?}2 ﬂg AF U A 2018 (A) | 20174 ®B) | S#(A-B)

2) EAAYEE 100,0009€ X 10%= 1,000

3) A EST= 15,0009 X 10E X 129 = 1,800

4) TR EFE 50,0009 X 20&= 1,000

U FF o T A A 12,529

1) A719+F 800,0009 x 129 = 9,600

2) A3+ 100,000 x 129 = 1,200

3) AsrEeH 50,0009 x 129 = 600

4) A7 A"AAHSFTR 150,0009 x 23] = 300

5 AHESHIAR 95,0009 x 18] = 95

6) Gl g AIRAR 104,0009 x 13]= 104

7) EA T3] 210,0009 x 37] ¥ = 630

ok Al A e 10,960

1) 951 300,0009 x 1% = 300

2) A4 100,0009 X 103] = 1,000

3) AEFA 50,0009 x 129 = 600

4) X*Tﬂwx] 40,0009 x129= 480

5) FA4n] g 165,0009 %129 = 1,980

6) Fargs 550,000 x 129 = 6,600

g} TA TS 8229 X 10| X 8417k x 60U = 395

I i) 1,300

1) “EH 1,300,000 x 1t]= 1,300
AP BAA 6,711,124 255,475 6,455,649
RSB PARS Eu ) 6,711,124 255,475 6,455,649
1. AR YA A 6,711,124 255,475 6,455,649

7}, BAFG-R ] 300,000¢] X 994 tfj = 29,700

v S dAA 30,000,000 X 1 %= 30,000

o 1A S ALY HANE 6,644,000

1) AlAdH] 6,524,486

7H HAHN = 2,048,000¢ X 3,185.8m'= 6,524,486

2) 7+an 96,191,000 x 12 = 96,191

3) ARt 23,323,0009 x 12 = 23,323

ARAF5 5% 7,424

#eGdHe - P A7|AAA - aSA YA A A
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HEIFIHA A%
] =0 g}o A H =
A};; ig AF S-A= ArEue 20189 (A) | 2017 (B)
1) A7 420-03 |128,0009 X 33m'= 4,224
2) A HA 420-03 |128,000¢] X 25m'= 3,200
o - BEYH7 WA — A YA el
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